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I. Only four answers are required: (20 marks — 5 marks each)
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II. Only four answers are required: (40 marks — 10 marks each)”";)'o&o 4 O 3
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1. Nelly is biased as she is deeply involved mn the story she tells. She has strong

feelings for the characters in her story, and these feelings complicate her
narration. (Any other similar answer which states the same reasons but in
different words is correct)

2. Heathcliff wants to Catherine’s ghost to haunt him. / He does not want her soul
to rest in peace.

3. Heathcliff refers to his son, Linton, using the pronoun “it”. He degrades his son
ang does not respect him as a person. / He dehumanizes his son.

4. Catherine wants to be a high-class lady.
5. Catherine does not want to lose Heathcliff’s love or her marriage to Edgar.
6. Heathcliff is a c/ruel man. / This statement shows Heathcliff’s cruelty.
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I11. Only one answer is required: (40 marks)
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To get the mark, a student should write a well-organized essay and discuss the ‘
required ideas which are stated in the question.



